

#### Pay Estimate Created Date: January 17, 2023

Progress Estima 37	ate Num			210521-F05 Collins & Hermai			15, 2023 Net	ginal Contract Amount t Change Order Amount rrent Contract Amount	\$550,000.00
Approval Date									By User
January 17, 2023			Ge	nerated and App	proved (and s	should be considered	Draft) at the F	Project Office Level by	tinckv1
January 17, 2023 Revie			ed and Approve	d (and shoul	d be considered Draft	) at the Resid	ent Engineer Level by	HELLET	
January 18, 2023				Re	viewed and A	Approved at the Centra	al Office Cont	trollers Office Level by	ramses1
Original Comp	letion Da	ate	Current Comp	letion Date	Actual (	Completion Date	% of C	urrent Contract Amoun	t Complete
June 30,	2022		June 30,	2023				106.31%	
	С	ontract	Informational Dat	es		Milestone	es		
Date Description	on O	Driginal	Completion Date	Current Comp	letion Date	No Milestones Exist	for Contract		
Acceptance Date									
Awarded Date	Jı	une 2, 2	.021	June 2, 2021					
		1ay 21, 2	2021	May 21, 2021					
0		uly 1, 20	)21	July 1, 2021					
Open to Traffic Da	te								
Work Began Date									
Contract Total Pay	/ For Es	timate	No. 37						
				This Estimate		Previous		To Date	
210521-F05	Gro Ince Disi	oss Item entive incentiv	ed Items Pay Adjustments e Damage	\$88,390.30 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$2,671,487.39 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$2,759,877.69 \$0.00 \$0.00 \$0.00 \$0.00	

		ntract Adjustr	nents \$0.00	\$0.00		\$0.00	
Contract Total Pa	yable This Est	imate:	\$88,390.30	<mark>\$2,67</mark>	1,487.39	\$2,759	,877.69
ems Paid This Es	timate Period						
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6P3452	0010	6189916	MISC.nighttime work adjustment factor	DLR	\$0.100	4,277	\$427.70
	0020	6189916	MISC.normal work adjustment factor	DLR	\$2.200	39,983	\$87,962.60
Project J6P3452	- Total						\$88,390.30
Overall - Total							\$88,390.30
ontract Adjustme							

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information												
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J6P3452	FAS- S502(086)	Job order Contracting for Guardrail Repairs	Various	ST LOUIS CITY	on Various Routes in St.Louis City & County, various routes								

#### Totals by Job Numbers

J6P3452		This Estimate	Previous	To Date
Posted Item Gross Item		\$88,390.30 \$0.00	\$2,671,487.39 \$0.00	\$2,759,877.69 \$0.00
	Gross Item Pay	\$88,390.30	\$2,671,487.39	\$2,759,877.69
Incentive		\$0.00	\$0.00	\$0.00
Disincentive	9	\$0.00	\$0.00	\$0.00
Liquidated I	Damages	\$0.00	\$0.00	\$0.00
Other Contr	act Adjustments	\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210521-F05	J6P3452	0001	0010	6189916	MISC.nighttime work adjustment factor	585,000.00	0.00	585,000.00	DLR	102,766.50	\$0.10	\$10,276.65
		0001	0020	6189916	MISC.normal work adjustment factor	900,000.00	250,000.00	1,150,000.00	DLR	1,176,770.50	\$2.20	\$2,588,895.10
		0001	0030	6189916	MISC.weekend work adjustment factor	15,000.00	0.00	15,000.00	DLR	2,385.00	\$0.50	\$1,192.50
		0001	9000	6189916	MISC.Liquidated Damages	0.00			DLR		(\$1.00)	
		0001	9100	6189916	MISC.Additional Items	0.00			DLR	159,513.44	\$1.00	\$159,513.44
	Project J	6P3452 - To	otal Value	Posted to	Date as of Report Generated Date							\$2,759,877.69
210521-F05 Ove	rall - Total	Value Post	ed to Dat	te as of Rep	port Generated Date							\$2,759,877.69



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	6189916	MISC.	1/14/23	1/17/23	1,210.00	DLR	K22F7988					
				1/17/23	1,414.00	DLR	K23F8001					
				1/17/23	1,653.00	DLR	K22F7940					
0020	6189916	MISC.	1/9/23	1/9/23	285.00	DLR	K22F7918					
				1/9/23	751.00	DLR	K22F7952					
				1/9/23	960.00	DLR	K22F8002					
				1/9/23	1,008.00	DLR	K22F7965					
				1/9/23	1,195.00	DLR	K22F7958					
				1/9/23	1,208.00	DLR	K22F7987					
				1/9/23	1,290.00	DLR	K22F7957					
				1/9/23	1,309.00	DLR	K22F7954					
				1/9/23	1,414.00	DLR	K22F7989					
				1/9/23	1,611.00	DLR	K22F7955					
				1/9/23	1,689.00	DLR	K22F8005					
				1/9/23	1,691.00	DLR	K22F7869					
				1/9/23	1,718.00	DLR	K22F7915					
				1/9/23	2,280.00	DLR	K22F7956					
				1/9/23	2,925.00	DLR	K22F7939					K22F7939
				1/9/23	3,192.00	DLR	K22F7833					
				1/9/23	4,215.00	DLR	K22F7938					
			1/13/23	1/13/23	1,433.00	DLR	K22F7986					
				1/13/23	1,471.00	DLR	K23F8009					
				1/13/23	1,676.00	DLR	K22F7964					
			1/14/23	1/17/23	882.00	DLR	K23F8003					
				1/17/23	1,116.00	DLR	K23F8004					
				1/17/23	2,070.00	DLR	K22F7736					
				1/17/23	2,594.00	DLR	K23F8008					

The information below this line are details for Construction Signs (if applicable). No Data Available



### Line Item Adjustments by Estimate

Contract ID: 210521-F05

No Data Available